rv-disjoint!!40

rv-disjoint(p;n; X;Y)
=def W:{O..n*}.
(Vs1, $2:({0..n~ }—Outcome).
(Vj:{0.n7} (2 = 1)) = (510)) = 52(4))) = (X(s1) = X(s2)))
V (¥s1, $2:({0..n~ }—Outcome).
(Vj:{0.n7} (20 = 1)) = (5105) = 52(5))) = (Y(s1) = Y(s2)))

clarification:

rv-disjoint(p;n; X;Y)
=get Vi{0.n7}.
(Vs1:({0..n~ }—p-outcome(p)), s2:({0..n~ }—p-outcome(p)).
(Vj:{0.n"}. (=(j =i € Z)) = (51(j) = s2(j) € p-outcome(p)))
= (X(s1) = X(52) € Q))
V (¥s1:({0..n~ }—p-outcome(p
(V5:{0.n"}. (=(j =i € Z))
= (V(s1) = Y(52) € Q)

), s2:({0..n~ }—p-outcome(p)).
= (s1(j) = s2(j) € p-outcome(p)))
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